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f
t



!

Bu2o luqhl tltphfrrqfr otF, F UU 4Furd 21400 I 2t,400

l63ll20 Il!\pntu{nnpr4+!# UU 4nurd 62800 I 62,800

?16$S0SS {lhnrurilitn x i08.200
:ltti i i{}t itirt,)lr tnLF!ir! r--:-:sr't!- rt'; ar:r l*il 'l r:rir;

?240$S0* Clrnurdttr x X 45.00s
:4,:!t:) i.'i;pi1:r:u-*r.ax: L!r.Lt, lllrr-r'r-af LJ ifi,J rl.ilil*i I ililiiilil i r)r,i {irir,}

?910**0$, ttr*ru{tfu X X 100,0t10

7934tt30 C{xlturtrlt brt I'ru 4ntuil 980000 980.000

?930**00 PEarIh x x X 980,000
lj ','r;:r:tll=f ltr-c.h trur?ivU:. Ia::t-.:l I l.'liil :5*ii{it, : -r{l.li{iii

?95gp{p Efnfr x Y Y 550,000

7gE20,m hrrFf UU nnurd 995000 1 995,000

T9sXXXrO tlrtr X 99:.S00
.-:":c=;:=3-.; !t::;)'1:::3 :''1:ti?l litt'i l;]+;1j1 "1:rni. i ){t{}

7993xnl thH@muru (ru 4nuril 7s0000 750,000

799{XXm 5rtr x x X 950.00$
E05llltn LrFt rtllnrlrrqqrurmnnril Iru nnud 80000 80,000

to5{n0m Elrrlttr 80^0s{

J niriiiil; Iriiiir{ i ri.lilX

85t{Xnm Elrut!&&a x I 16.000

9051n(n IJTdnufrnrpjurb rldurp Iru 4FunI 32200 I 32,200

98J{n000 Qtqwd&&n x X 32.2*S

+iitilliiLii:,jriliLl il lirlrllll j _il,]l,li ':ii,li{i{r

tl: i::aia Jltlu'tugl't*| rrlii,lt*il* il.ri:;1,;:h+rl:**,i li i] f!]i}l 5ti.ii']t,r
'92r&Xm !fuiurdktrn x X x X 800.000
yBltt6o (uuhtnhturlr Iru 4nud 10935300 10,935,300

923{XXXB It4ur.ihtrtr x x X t0"935,3S0

etolurtthltp 32551,285
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